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Q:1 Direction: What will come in place of question
mark (?) in the following question?

89/3+ {15/4-1/3x (12/2-6/3-2[12)} =2
1. 20.41

2.25.96

3.11.74

4.15.63

5.18.97

Q:2 Direction: What will come in place of question
mark (?) in the following question?

(205.87 + 84.13) = 25.85 + /144 = ?
1.32.33

2.23.22

3.2555

4.27.66

5.29.11

Q:3 Simplify -

28% of 680 + 42% of 360 - 20% of x = 290
1. 213

2. 245

3.2568

4. 263

5. 289

Q:4 Direction: What will come in place of 2" in the
following question?

192+ 47 x8-116+4 =72
1. 698
2.630
3.732
4.708
5. 450

Q:5 Direction: What will come in place of the
question mark (?) in the following questions?

(6.7)4-(89)3 + (12.23)2= 7
1.1010.716

2.1459.716

3.1522.716

4.1746.716

5.1230.716

Q:6 Simplify -
89 + 85 - {34 + (52 - 26) =13}
1.148
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2.138
3.128
4.158
5.168

Q:7 Simplify -

42+ 15 -{(-21) +27+ (18 x 6 +1-17 x 4)}]
1.14

2.18

3.22

4.10

5.12

Q:8 Direction: What should come in place of the
question mark (?) in the following question?

8.6% of 640 + 5.6% of 360 = ?% of 560
1.13.43

2.15.26

3.11.20

4.21.36

5.9.6

Q:9 Direction: What will come in place of question
mark (?) in the following question?

128% of 580 + 64% of 720 = ?% of 1680
1. 65.32
2.71.62
3.72.80
4.74.69
5.78.12

Q:10 Solve the following:

85-16 + [3{(29-8)2-41x4}] =72
1. 810

2.830

3. 900

4. 840

5. 870

GETITON

Google Play

f «

>




l "THIE _ DAILY
) V IHIROINAS [DOSE]

SSC Banking WB Police = WB Civil Services Other Competitive Exams

Date : 13th Jan 2024 Quantitative Aptitude - Simplification English
IAnswer Key =89+ 85-36
=138
1. (3) 2. (2) 3. (3) 4. (4) 5. (2)
6. (2) 7. (4) 8. (1) 9. (2) 10. (3) Q:7 The correct answer is Option 4 i.e. 10
42+ 15-{(-21) +27+ (18 x 6 +1-17 x 4)}]
=42+ [15 - {-21+ 27 + (108 + 1 - 68))]
=42 + [15 - {-21 + 27 + 109 - 68}]
Q:1 The correct answer is Option 3 i.e. 11.74 =42+ [15 - 47]
89/3 + {15/4-1/3 x (12/2-6/3-4/12)} = ? =42+15-47
89/3 = [15/4-1/3 x {(72-24-4)12}] = » =10
89/3 + {16/4 -1/3 x 44[12} = ?
89/3 + {I15/4 - 1/9} = ? Q:8 The correct answer is Option 1 i.e. 13.43
89/3 - (]35 _ 44)/36 =9 8.6% of 640 + 5.6% of 360 = ?% of 560
89/3 + (91/36) = ? 8.6(640) /100 + 5.6(360)/100 = ?(560)/100
89/3 x (36/91) = ? 55.04 + 20.16 = ?(5.60)
1068/91 = ? ? = 75.2/5.60
174 =72 ? =13.43
Q:2 The correct answer is Option 2 i.e. 23.22 Q:9 The correct answer is Option 2 i.e. 71.62
(205.87 + 8413) + 25.85 + /144 = ? 128% of 580 + 64% of 720 = ?% of 1680
290 = 25.85 + 12 = ? 128(580) /100 + 64(720)/100 = ?(1680) /100
122 +12 = ? 742.40 + 460.80 = ?(16.80)
2 = 9399 1203.2/16.80 = ?
71.62 =7
Q:3 The correct answer is Option 3 i.e. 268
28% of 680 + 42% of 360 - 20% of x = 290
28(680) /100 + 42(360)/100 - 20x/100 = 290 Q:10 The correct answer is Option 3 i.e. 900.
190.40 + 151.20 - x/5 = 290 85-16+ [3{(29-8)2-41x4}] =2
3416 -290 = x/5 85-16 + [3{(21)2-41x 4}] = ?
x/5 = 516 85 - 16 + [3{441-164}] = ?
« = 258 85-16 + [3(277)] = ?
85-16+831="7
Q:4 The correct answer is Option 4 i.e. 708 900 =7
192+47 x8-116+4="7?
? =361+ 376 - 29
? =708
Q:5 The correct answer is Option 2 i.e. 1459.716
(6.7)4 - (8.9)3 + (12.23)2=?
20151121 - 704.969 +149.5729 = ?
? =1459.716
Q:6 The correct answer is Option 2 i.e. 138
89 + 85 - {34 + (52 - 26) +13}
=89 + 85 - {34 + 26 + 13}
=89+ 85 - {34+ 2}
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